Equal 9 step grey scaling betweeb* g;n=—48.3 andL*y,\,=48.3, Yorei=1.8, normalisation greyU

L*0anm—48.3,L*0a=0.0, L*0anF48.4, Yoan=2.6. Yoa=18.0, Yoaw=126.0,Coay=Yoaw: Yoan=49.0
L*taN=—37.5,L*tay=0.0, L*tan~46.3, tan=4.0, ¥1aU=18.0, Y1an=116.2,Gay=Yiaw: Ytan=29.2
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 AL* min] / [AL* max], L* TusanD1 = 40 / 1og(5) [ log (Y/Yy) ] with Y,=18

g*%= 100, g’y= 100 9%= 71, g*y= 65 g%= 98, g%5= 94
L*TuBanD1 intended output real output linearized output

n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) /115 L*Ia AL*la
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